

## REFERENCES

- Abramowitz, M. and Stegun, I.A. (1965). *Handbook of mathematical functions*, Dover, New York.
- Crawley, E.F. (1994). Intelligent structures for aerospace: A technology overview and assessment. *AIAA Journal*, 32(8), 1689-1699.
- Crawley, E.F. and de Luis, J. (1991). Use of piezoelectric actuators as elements of intelligent structures. *AIAA Journal*, 29(6), 944-951.
- Ding Haojiang, Chenbuo and Liangjian. (1996). General solutions for coupled equations for piezoelectric media. *International Journal of Solids and Structures*, 33(16), 2283-2298.
- Ding Haojiang, Chi Yuwei and Guo Fenglin. (1999). Solutions for transversely isotropic piezoelectric infinite body, semi-infinite body and biomaterial infinite body subjected to uniform ring loading and charge. *International Journal of Solids and Structures*, 36, 2613-2631.
- Dunn, M.L. and Wienecke, H.A. (1996). Green's functions for transversely isotropic piezoelectric solids. *International Journal of Solids and Structures*, 33(30), 4571-4581.
- Eringen, A.C. (1963). On the foundations of electroelastostatics. *International Journal of Engineering and Science*, 1, 127-153.
- Lekhniskii, S.G. (1981). *Theory of Elasticity of an Anisotropic Body*. MirPublishers, Moscow.
- Mason, W.P. (1981). Piezoelectricity, its history and applications. *J. Acoust. Soc. Am*, 70(6), 1561-1566.
- Parson, V.Z. and Kudryavtsev, B.A. (1988). *Eleectromagnetoelasticity*. Gordon and Breach, New York.
- Rajapakse, R.K.N.D. and Zhou, Y. (1997). Stress analysis of piezoceramic cylinders. *Smart Material Structure*. 6, 169-177.
- Rao, S.S. and Sunar, M. (1994). Piezoelectricity and its use in disturbance sensing and control of Flexible Structures: A survey. *Appl. Mech. Rev.* 47(4), 113-123.

- Uchino, K. (1998). Materials issues in design and performance of piezoelectric actuators: An overview. *Acta. mater.*, 46(11), 3745-3753.
- Vendhan, C.P. and Archer, R.R. (1978). Axisymmetric stresses in transversely isotropic finite cylinders. *International Journal of Solids and Structures*, 14(4), 305-318.
- Watanabe, S. (1992). Elastic analysis of axi-symmetric finite cylinder constrained radial displacement on the loading end. *Journal of structure Mechanics and Earthquake Engineering., JSCE*, 450(1-20), 85-94.
- Wang, Z. and Zheng, B. (1995). The general solution of three-dimensional problems in piezoelectric media. *International Journal of Solids and Structures*, 32(1), 105-115.
- Wei, X.X. and Chau, K.T. (2000a). Finite solid circular cylinder subjected arbitrary surface load. Part I: Analytic solution. *International Journal of Solids and Structures*, 37(40), 5707-5732.
- Wei, X.X. and Chau, K.T. (2000b). Finite solid circular cylinder subjected arbitrary surface load. Part II: Application to double-punch test. *International Journal of Solids and Structures*, 37(40), 5733-5744.
- Wei, X.X. and Chua, K.T. (2002). Analytic solution for finite transversely isotropic cylinders under the axial point load test. *Journal of Engineering Mechanics ASCE*, in press.
- Wei, X.X., Chau, K.T. and Wong, R.H.C. (1999). Analytic solution for axial point load strength test on solid circular cylinders. *Journal of Engineering Mechanics ASCE*, 125(12), 1349-1357



**APPENDIX**

ศูนย์วิทยทรัพยากร  
จุฬาลงกรณ์มหาวิทยาลัย

## APPENDIX A

### GENERAL EXPRESSION FOR ELECTROELASTIC FIELDS

#### A.1 Mechanical Displacement

$$u_r = \frac{\partial}{\partial \rho} (\psi_1 + \psi_2 + \psi_3) \quad (\text{A.1})$$

$$= \frac{A_{01}}{\rho} + \sum_{i=1}^3 \left[ \begin{aligned} & 2\rho B_{i0} - \sum_{n=1}^{\infty} \frac{\cos(n\pi\eta)}{\zeta_n^2} [p_i \zeta_n A_{in} I_1(p_i \zeta_n \rho) - p_i \zeta_n B_{in} K_1(p_i \zeta_n \rho)] \\ & - \sum_{s=1}^{\infty} \frac{\cosh(q_i \gamma_s \eta)}{\lambda_s^2} [-\lambda_s C_{is} J_0(\lambda_s \rho) - \lambda_s D_{is} Y_0(\lambda_s \rho)] \end{aligned} \right] \quad (\text{A.2})$$

$$= \frac{A_{01}}{\rho} + \sum_{i=1}^3 \left[ \begin{aligned} & 2\rho B_{i0} + \sum_{n=1}^{\infty} \frac{p_i \cos(n\pi\eta)}{\zeta_n} [-A_{in} I_1(p_i \zeta_n \rho) + B_{in} K_1(p_i \zeta_n \rho)] \\ & + \sum_{s=1}^{\infty} \frac{\cosh(q_i \gamma_s \eta)}{\lambda_s} [C_{is} J_0(\lambda_s \rho) + \lambda_s D_{is} Y_0(\lambda_s \rho)] \end{aligned} \right] \quad (\text{A.2})$$

$$u_z = k_{11} \frac{\partial \psi_1}{\partial \xi} + k_{12} \frac{\partial \psi_2}{\partial \xi} + k_{13} \frac{\partial \psi_3}{\partial \xi} \quad (\text{A.3})$$

$$= \sum_{i=1}^3 k_{1i} \left[ \begin{aligned} & -4q_i^2 \kappa \eta B_{i0} + \sum_{n=1}^{\infty} \frac{\zeta_n \sin(n\pi\eta)}{\zeta_n^2} [A_{in} I_0(p_i \zeta_n \rho) + B_{in} K_0(p_i \zeta_n \rho)] \\ & - \sum_{s=1}^{\infty} \frac{q_i \lambda_s \sinh(q_i \gamma_s \eta)}{\lambda_s^2} [C_{is} J_0(\lambda_s \rho) + D_{is} Y_0(\lambda_s \rho)] \end{aligned} \right] \quad (\text{A.4})$$

$$= \sum_{i=1}^3 k_{1i} \left[ \begin{aligned} & -4q_i^2 \kappa \eta B_{i0} + \sum_{n=1}^{\infty} \frac{\sin(n\pi\eta)}{\zeta_n} [A_{in} I_0(p_i \zeta_n \rho) + B_{in} K_0(p_i \zeta_n \rho)] \\ & + \sum_{s=1}^{\infty} \frac{q_i \sinh(q_i \gamma_s \eta)}{\lambda_s} [-C_{is} J_0(\lambda_s \rho) - D_{is} Y_0(\lambda_s \rho)] \end{aligned} \right] \quad (\text{A.4})$$

## A.2 Electric potential

$$\tilde{\phi} = k_{21} \frac{\partial \psi_1}{\partial \xi} + k_{22} \frac{\partial \psi_2}{\partial \xi} + k_{23} \frac{\partial \psi_3}{\partial \xi} \quad (\text{A.5})$$

$$= \sum_{i=1}^3 k_{2i} \left[ \begin{aligned} & -4q_i^2 \kappa \eta B_{i0} + \sum_{n=1}^{\infty} \frac{\zeta_n \sin(n\pi\eta)}{\zeta_n^2} [A_{in} I_0(p_i \zeta_n \rho) + B_{in} K_0(p_i \zeta_n \rho)] \\ & - \sum_{s=1}^{\infty} \frac{q_i \lambda_s \sinh(q_i \gamma_s \eta)}{\lambda_s^2} [C_{is} J_0(\lambda_s \rho) + D_{is} Y_0(\lambda_s \rho)] \end{aligned} \right] \quad (\text{A.6})$$

$$= \sum_{i=1}^3 k_{2i} \left[ \begin{aligned} & -4q_i^2 \kappa \eta B_{i0} + \sum_{n=1}^{\infty} \frac{\sin(n\pi\eta)}{\zeta_n} [A_{in} I_0(p_i \zeta_n \rho) + B_{in} K_0(p_i \zeta_n \rho)] \\ & + \sum_{s=1}^{\infty} \frac{q_i \sinh(q_i \gamma_s \eta)}{\lambda_s} [-C_{is} J_0(\lambda_s \rho) - D_{is} Y_0(\lambda_s \rho)] \end{aligned} \right]$$

## A.2 Electric fields

$$E_r = -\frac{\partial \tilde{\phi}}{\partial \rho} \quad (\text{A.7})$$

$$= \sum_{i=1}^3 (-k_{2i}) \left[ \begin{aligned} & \sum_{n=1}^{\infty} \frac{\sin(n\pi\eta)}{\zeta_n} [A_{in} p_i \zeta_n I_1(p_i \zeta_n \rho) - B_{in} p_i \zeta_n K_0(p_i \zeta_n \rho)] \\ & + \sum_{s=1}^{\infty} \frac{q_i \sinh(q_i \gamma_s \eta)}{\lambda_s} [C_{is} \lambda_s J_0(\lambda_s \rho) + D_{is} \lambda_s Y_0(\lambda_s \rho)] \end{aligned} \right]$$

$$= \sum_{i=1}^3 k_{2i} \left[ \begin{aligned} & \sum_{n=1}^{\infty} \sin(n\pi\eta) [-A_{in} p_i I_1(p_i \zeta_n \rho) + B_{in} p_i K_0(p_i \zeta_n \rho)] \\ & + \sum_{s=1}^{\infty} q_i \sinh(q_i \gamma_s \eta) [-C_{is} J_0(\lambda_s \rho) - D_{is} Y_0(\lambda_s \rho)] \end{aligned} \right] \quad (\text{A.8})$$

$$E_z = -\frac{\partial \tilde{\phi}}{\partial \xi} \quad (\text{A.9})$$

$$= \sum_{i=1}^3 (-k_{2i}) \left[ \begin{aligned} & -4q_i^2 B_{i0} + \sum_{n=1}^{\infty} \frac{\zeta_n \cos(n\pi\eta)}{\zeta_n} [A_{in} I_0(p_i \zeta_n \rho) + B_{in} K_0(p_i \zeta_n \rho)] \\ & + \sum_{s=1}^{\infty} \frac{q_i \lambda_s \sinh(q_i \gamma_s \eta)}{\lambda_s} [-C_{is} J_0(\lambda_s \rho) - D_{is} Y_0(\lambda_s \rho)] \end{aligned} \right]$$

$$= \sum_{i=1}^3 k_{2i} \left[ 4q_i^2 B_{i0} + \sum_{n=1}^{\infty} \cos(n\pi\eta) [-A_{in} I_0(p_i \zeta_n \rho) - B_{in} K_0(p_i \zeta_n \rho)] \right. \\ \left. + \sum_{s=1}^{\infty} q_i^2 \sinh(q_i \gamma_s \eta) [C_{is} J_0(\lambda_s \rho) + D_{is} Y_0(\lambda_s \rho)] \right] \quad (\text{A.10})$$

### A.3 Stresses

$$\sigma_{rr} = \left( c_{11} \frac{\partial^2}{\partial \rho^2} + c_{12} \frac{1}{\rho} \frac{\partial}{\partial \rho} \right) \psi_i + (c_{13} k_{1i} + e_{31} k_{2i}) \frac{\partial^2 \psi_i}{\partial \xi^2} \quad (\text{A.11})$$

$$= (c_{12} - c_{11}) \frac{1}{\rho^2} A_{01} + \sum_{i=1}^3 \left[ 2c_{11} + 2c_{12} - 4(c_{13} k_{1i} + e_{31} k_{2i}) q_i^2 \right] B_{0i} \\ - \sum_{i=1}^3 \sum_{n=1}^{\infty} \frac{\cos(n\pi\eta)}{\zeta_n^2} \left[ A_{in} \left( -\frac{p_i \zeta_n}{\rho} I_1(p_i \zeta_n \rho) + p_i^2 \zeta_n^2 I_0(p_i \zeta_n \rho) \right) + \right. \\ \left. B_{in} \left( \frac{p_i \zeta_n}{\rho} K_1(p_i \zeta_n \rho) + p_i^2 \zeta_n^2 K_0(p_i \zeta_n \rho) \right) \right] \\ - \sum_{i=1}^3 \sum_{s=1}^{\infty} \frac{\cosh(q_i \gamma_s \eta)}{\lambda_s^2} \left[ C_{is} \left( \frac{\lambda_s}{\rho} J_1(\lambda_s \rho) - \lambda_s^2 J_0(\lambda_s \rho) \right) + \right. \\ \left. D_{is} \left( \frac{\lambda_s}{\rho} Y_1(\lambda_s \rho) - \lambda_s^2 Y_0(\lambda_s \rho) \right) \right] \\ = (c_{12} - c_{11}) \frac{1}{\rho^2} A_{01} + \sum_{i=1}^3 B_{0i} \left[ 2(c_{11} + c_{12}) - 4(c_{13} k_{1i} + e_{31} k_{2i}) q_i^2 \right] \\ - c_{11} \sum_{i=1}^3 \sum_{n=1}^{\infty} \frac{\cos(n\pi\eta)}{\zeta_n^2} \left[ A_{in} \left( -\frac{p_i \zeta_n}{\rho} I_1(p_i \zeta_n \rho) + p_i^2 \zeta_n^2 I_0(p_i \zeta_n \rho) \right) + \right. \\ \left. B_{in} \left( \frac{p_i \zeta_n}{\rho} K_1(p_i \zeta_n \rho) + p_i^2 \zeta_n^2 K_0(p_i \zeta_n \rho) \right) \right] \\ - c_{11} \sum_{i=1}^3 \sum_{s=1}^{\infty} \frac{\cosh(q_i \gamma_s \eta)}{\lambda_s^2} \left[ C_{is} \left( \frac{\lambda_s}{\rho} J_1(\lambda_s \rho) - \lambda_s^2 J_0(\lambda_s \rho) \right) + \right. \\ \left. D_{is} \left( \frac{\lambda_s}{\rho} Y_1(\lambda_s \rho) - \lambda_s^2 Y_0(\lambda_s \rho) \right) \right] \\ - c_{12} \sum_{i=1}^3 \sum_{n=1}^{\infty} \frac{\cos(n\pi\eta)}{\zeta_n^2} \left[ A_{in} \frac{p_i \zeta_n}{\rho} I_1(p_i \zeta_n \rho) - B_{in} \frac{p_i \zeta_n}{\rho} K_1(p_i \zeta_n \rho) \right] \\ - c_{12} \sum_{i=1}^3 \sum_{s=1}^{\infty} \frac{\cosh(q_i \gamma_s \eta)}{\lambda_s^2} \left[ -C_{is} \frac{\lambda_s}{\rho} J_1(\lambda_s \rho) - D_{is} \frac{\lambda_s}{\rho} Y_1(\lambda_s \rho) \right] \\ - \sum_{i=1}^3 (c_{13} k_{1i} + e_{31} k_{2i}) \sum_{n=1}^{\infty} \frac{\zeta_n^2 \cos(n\pi\eta)}{\zeta_n^2} [-A_{in} I_0(p_i \zeta_n \rho) - B_{in} K_0(p_i \zeta_n \rho)] \\ - \sum_{i=1}^3 (c_{13} k_{1i} + e_{31} k_{2i}) \sum_{s=1}^{\infty} \frac{\lambda_s^2 \cosh(q_i \gamma_s \eta)}{\lambda_s^2} [C_{is} J_0(\lambda_s \rho) + D_{is} Y_0(\lambda_s \rho)]$$

$$\begin{aligned}
&= (c_{12} - c_{11}) \frac{1}{\rho^2} A_{01} + \sum_{i=1}^3 B_{0i} \left[ 2(c_{11} + c_{12}) - 4(c_{13}k_{1i} + e_{31}k_{2i})q_i^2 \right] \\
&\quad - \sum_{i=1}^3 \sum_{n=1}^{\infty} A_{in} \frac{\cos(n\pi\eta)}{\zeta_n^2} \left\{ \begin{aligned} &(-c_{11} + c_{12}) \frac{p_i \zeta_n}{\rho} I_1(p_i \zeta_n \rho) + \\ &[c_{11} p_i^2 - (c_{13}k_{1i} + e_{31}k_{2i})] \zeta_n^2 I_0(p_i \zeta_n \rho) \end{aligned} \right\} \\
&\quad - \sum_{i=1}^3 \sum_{n=1}^{\infty} B_{in} \frac{\cos(n\pi\eta)}{\zeta_n^2} \left\{ \begin{aligned} &(c_{11} - c_{12}) \frac{p_i \zeta_n}{\rho} K_1(p_i \zeta_n \rho) + \\ &[c_{11} p_i^2 - (c_{13}k_{1i} + e_{31}k_{2i})] \zeta_n^2 K_0(p_i \zeta_n \rho) \end{aligned} \right\} \\
&\quad - \sum_{i=1}^3 \sum_{s=1}^{\infty} C_{is} \frac{\cosh(q_i \gamma_s \eta)}{\lambda_s^2} \left\{ \begin{aligned} &(c_{11} - c_{12}) \frac{\lambda_s}{\rho} J_1(\lambda_s \rho) + \\ &[-c_{11} + (c_{13}k_{1i} + e_{31}k_{2i})q_i^2] \lambda_s^2 J_0(\lambda_s \rho) \end{aligned} \right\} \\
&\quad - \sum_{i=1}^3 \sum_{s=1}^{\infty} D_{is} \frac{\cosh(q_i \gamma_s \eta)}{\lambda_s^2} \left\{ \begin{aligned} &(c_{11} - c_{12}) \frac{\lambda_s}{\rho} Y_1(\lambda_s \rho) + \\ &[-c_{11} + (c_{13}k_{1i} + e_{31}k_{2i})q_i^2] \lambda_s^2 Y_0(\lambda_s \rho) \end{aligned} \right\} \\
&= (c_{12} - c_{11}) \frac{1}{\rho^2} A_{01} + \sum_{i=1}^3 B_{0i} \left[ 2(c_{11} + c_{12}) - 4(c_{13}k_{1i} + e_{31}k_{2i})q_i^2 \right] \\
&\quad + \sum_{i=1}^3 \sum_{n=1}^{\infty} A_{in} \left[ (-c_{11} p_i^2 + c_{13}k_{1i} + e_{31}k_{2i}) I_0(p_i \zeta_n \rho) + (c_{11} - c_{12}) p_i \frac{I_1(p_i \zeta_n \rho)}{\zeta_n \rho} \right] \cos(n\pi\eta) \\
&\quad + \sum_{i=1}^3 \sum_{n=1}^{\infty} B_{in} \left[ (-c_{11} p_i^2 + c_{13}k_{1i} + e_{31}k_{2i}) K_0(p_i \zeta_n \rho) + (c_{12} - c_{11}) p_i \frac{K_1(p_i \zeta_n \rho)}{\zeta_n \rho} \right] \cos(n\pi\eta) \\
&\quad + \sum_{i=1}^3 \sum_{s=1}^{\infty} C_{is} \left[ (c_{11} - c_{13}k_{1i}q_i^2 - e_{31}k_{2i}q_i^2) J_0(\lambda_s \rho) + (c_{12} - c_{11}) \frac{J_1(\lambda_s \rho)}{\lambda_s \rho} \right] \cosh(q_i \gamma_s \eta) \\
&\quad + \sum_{i=1}^3 \sum_{s=1}^{\infty} D_{is} \left[ (c_{11} - c_{13}k_{1i}q_i^2 - e_{31}k_{2i}q_i^2) Y_0(\lambda_s \rho) + (c_{12} - c_{11}) \frac{Y_1(\lambda_s \rho)}{\lambda_s \rho} \right] \cosh(q_i \gamma_s \eta) \tag{A.12}
\end{aligned}$$

$$\sigma_{\theta\theta} = \left( c_{12} \frac{\partial^2}{\partial \rho^2} + c_{11} \frac{1}{\rho} \frac{\partial}{\partial \rho} \right) \psi_i + (c_{13}k_{1i} + e_{31}k_{2i}) \frac{\partial^2 \psi_i}{\partial \xi^2} \tag{A.13}$$

$$\begin{aligned}
&= (c_{11} - c_{12}) \frac{1}{\rho^2} A_{01} + \sum_{i=1}^3 B_{0i} \left[ 2(c_{11} + c_{12}) - 4(c_{13}k_{1i} + e_{31}k_{2i})q_i^2 \right] \\
&\quad + \sum_{i=1}^3 \sum_{n=1}^{\infty} A_{in} \left[ (-c_{12} p_i^2 + c_{13}k_{1i} + e_{31}k_{2i}) I_0(p_i \zeta_n \rho) + (c_{12} - c_{11}) p_i \frac{I_1(p_i \zeta_n \rho)}{\zeta_n \rho} \right] \cos(n\pi\eta) \\
&\quad + \sum_{i=1}^3 \sum_{n=1}^{\infty} B_{in} \left[ (-c_{12} p_i^2 + c_{13}k_{1i} + e_{31}k_{2i}) K_0(p_i \zeta_n \rho) + (c_{11} - c_{12}) p_i \frac{K_1(p_i \zeta_n \rho)}{\zeta_n \rho} \right] \cos(n\pi\eta) \\
&\quad + \sum_{i=1}^3 \sum_{s=1}^{\infty} C_{is} \left[ (c_{12} - c_{13}k_{1i}q_i^2 - e_{31}k_{2i}q_i^2) J_0(\lambda_s \rho) + (c_{11} - c_{12}) \frac{J_1(\lambda_s \rho)}{\lambda_s \rho} \right] \cosh(q_i \gamma_s \eta)
\end{aligned}$$

$$+\sum_{i=1}^3 \sum_{s=1}^{\infty} D_{is} \left[ (c_{12} - c_{13}k_{1i}q_i^2 - e_{31}k_{2i}q_i^2) Y_0(\lambda_s \rho) + (c_{11} - c_{12}) \frac{Y_1(\lambda_s \rho)}{\lambda_s \rho} \right] \cosh(q_i \gamma_s \eta) \quad (\text{A.14})$$

$$\sigma_{zz} = c_{13} \left( \frac{\partial^2}{\partial \rho^2} + \frac{1}{\rho} \frac{\partial}{\partial \rho} \right) \psi_i + (c_{33}k_{1i} + e_{33}k_{2i}) \frac{\partial^2 \psi_i}{\partial \xi^2} \quad (\text{A.15})$$

$$\begin{aligned} &= \sum_{i=1}^3 B_{0i} \left[ 2(c_{13} + c_{13}) - 4(c_{33}k_{1i} + e_{33}k_{2i})q_i^2 \right] \\ &+ \sum_{i=1}^3 \sum_{n=1}^{\infty} A_{in} \left[ (-c_{13}p_i^2 + c_{33}k_{1i} + e_{33}k_{2i}) I_0(p_i \zeta_n \rho) \right] \cos(n\pi\eta) \\ &+ \sum_{i=1}^3 \sum_{n=1}^{\infty} B_{in} \left[ (-c_{13}p_i^2 + c_{33}k_{1i} + e_{33}k_{2i}) K_0(p_i \zeta_n \rho) \right] \cos(n\pi\eta) \\ &+ \sum_{i=1}^3 \sum_{s=1}^{\infty} C_{is} \left[ (c_{13} - c_{33}k_{1i}q_i^2 - e_{33}k_{2i}q_i^2) J_0(\lambda_s \rho) \right] \cosh(q_i \gamma_s \eta) \\ &+ \sum_{i=1}^3 \sum_{s=1}^{\infty} D_{is} \left[ (c_{13} - c_{33}k_{1i}q_i^2 - e_{33}k_{2i}q_i^2) Y_0(\lambda_s \rho) \right] \cosh(q_i \gamma_s \eta) \end{aligned} \quad (\text{A.16})$$

$$\sigma_{rz} = (c_{44} + c_{44}k_{1i} + e_{15}k_{2i}) \frac{\partial^2 \psi_i}{\partial \rho \partial \xi} \quad (\text{A.17})$$

$$\begin{aligned} &= -\sum_{i=1}^3 \sum_{n=1}^{\infty} (c_{44} + c_{44}k_{1i} + e_{15}k_{2i}) \frac{-\zeta_n \sin(n\pi\eta)}{\zeta_n^2} \left[ A_{in} p_i \zeta_n I_1(p_i \zeta_n \rho) - B_{in} p_i \zeta_n K_1(p_i \zeta_n \rho) \right] \\ &- \sum_{i=1}^3 \sum_{s=1}^{\infty} (c_{44} + c_{44}k_{1i} + e_{15}k_{2i}) \frac{q_i \lambda_s \sinh(q_i \gamma_s \eta)}{\lambda_s^2} \left[ -C_{is} \lambda_s J_1(\lambda_s \rho) - D_{is} \lambda_s Y_0(\lambda_s \rho) \right] \\ &= \sum_{i=1}^3 \sum_{n=1}^{\infty} (c_{44} + c_{44}k_{1i} + e_{15}k_{2i}) \left[ A_{in} p_i I_1(p_i \zeta_n \rho) - B_{in} p_i K_1(p_i \zeta_n \rho) \right] \sin(n\pi\eta) \\ &+ \sum_{i=1}^3 \sum_{s=1}^{\infty} (c_{44} + c_{44}k_{1i} + e_{15}k_{2i}) \left[ C_{is} q_i J_1(\lambda_s \rho) + D_{is} q_i Y_0(\lambda_s \rho) \right] \sinh(q_i \gamma_s \eta) \end{aligned} \quad (\text{A.18})$$

#### A.4 Dielectric Displacements

$$D_r = (e_{15} + e_{15}k_{1i} - \tilde{\kappa}_{11}k_{2i}) \frac{\partial^2 \psi_i}{\partial \rho \partial \xi} \quad (\text{A.19})$$

$$\begin{aligned} &= \sum_{i=1}^3 \sum_{n=1}^{\infty} (e_{15} + e_{15}k_{1i} - \tilde{\kappa}_{11}k_{2i}) \left[ A_{in} p_i I_1(p_i \zeta_n \rho) - B_{in} p_i K_1(p_i \zeta_n \rho) \right] \sin(n\pi\eta) \\ &+ \sum_{i=1}^3 \sum_{s=1}^{\infty} (e_{15} + e_{15}k_{1i} - \tilde{\kappa}_{11}k_{2i}) \left[ C_{is} q_i J_1(\lambda_s \rho) + D_{is} q_i Y_0(\lambda_s \rho) \right] \sinh(q_i \gamma_s \eta) \end{aligned} \quad (\text{A.20})$$

$$D_z = e_{13} \left( \frac{\partial^2}{\partial \rho^2} + \frac{1}{\rho} \frac{\partial}{\partial \rho} \right) \psi_i + (e_{33}k_{1i} - \tilde{\kappa}_{33}k_{2i}) \frac{\partial^2 \psi_i}{\partial \xi^2} \quad (\text{A.21})$$



$$\begin{aligned}
= & \sum_{i=1}^3 B_{0i} \left[ 2(e_{31} + e_{31}) - 4(e_{33}k_{1i} - \tilde{\kappa}_{33}k_{2i})q_i^2 \right] \\
& + \sum_{i=1}^3 \sum_{n=1}^{\infty} A_{in} \left[ (-e_{31}p_i^2 + e_{33}k_{1i} - \tilde{\kappa}_{33}k_{2i})I_0(p_i\zeta_n\rho) \right] \cos(n\pi\eta) \\
& + \sum_{i=1}^3 \sum_{n=1}^{\infty} B_{in} \left[ (-e_{31}p_i^2 + e_{33}k_{1i} - \tilde{\kappa}_{33}k_{2i})K_0(p_i\zeta_n\rho) \right] \cos(n\pi\eta) \\
& + \sum_{i=1}^3 \sum_{s=1}^{\infty} C_{is} \left[ (e_{31} - e_{33}k_{1i}q_i^2 + \tilde{\kappa}_{33}k_{2i}q_i^2)J_0(\lambda_s\rho) \right] \cosh(q_i\gamma_s\eta) \\
& + \sum_{i=1}^3 \sum_{s=1}^{\infty} D_{is} \left[ (e_{31} - e_{33}k_{1i}q_i^2 + \tilde{\kappa}_{33}k_{2i}q_i^2)Y_0(\lambda_s\rho) \right] \cosh(q_i\gamma_s\eta)
\end{aligned} \tag{A.22}$$



ศูนย์วิทยทรัพยากร  
จุฬาลงกรณ์มหาวิทยาลัย

## BIOGRAPHY

Mr. Wichairat Kaewjuea was born on November 22, 1978 in Krabi, Thailand. He attended Ammartpanichnukul School in Krabi and graduated in 1996. He received his Bachelor's Degree in Civil Engineering from Faculty of Engineering, Prince of Songkla University in 2000. He pursued his Master Degree studies in Civil Engineering at Chulalongkorn University, Bangkok, Thailand in May 2000.



ศูนย์วิทยทรัพยากร  
จุฬาลงกรณ์มหาวิทยาลัย